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(1) 

点と直線の距離の公式により 𝑓(𝑡) =
|2 ∙ 𝑡 − (3𝑡2 − 4𝑡)|

√22 + 12
=

3|𝑡2 − 2𝑡|

√5
 

𝑡2 − 2𝑡 = 𝑡(𝑡 − 2)より − 1 ≦ 𝑡 ≦ 0 のとき𝑡2 − 2𝑡 ≧ 0 0 ≦ 𝑡 ≦ 2 のとき𝑡2 − 2𝑡 ≦ 0 

 

−1 ≦ 𝑎 ≦ 0 のとき 
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3
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∫ (𝑡2 − 2𝑡)𝑑𝑡
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0 ≦ 𝑎 ≦ 2 のとき 

 𝑔(𝑎) =
3

√5
∫ (𝑡2 − 2𝑡)𝑑𝑡
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1

√5
(−𝑎3 + 3𝑎2 + 4) 

以上により 

 − 1 ≦ 𝑎 ≦ 0 のとき 𝑔(𝑎) =
1

√5
(𝑎3 − 3𝑎2 + 4) 0 ≦ 𝑎 ≦ 2 のとき 𝑔(𝑎) =

1

√5
(−𝑎3 + 3𝑎2 + 4) ⋯ ⋯ (答) 

 

(2) 

ℎ(𝑎) = 𝑔(𝑎) − 𝑓(𝑎)とする。0 ≦ 𝑎 ≦ 2 のとき、𝑔(𝑎) =
1

√5
(−𝑎3 + 3𝑎2 + 4)であるから 

 ℎ(𝑎) =
1

√5
(−𝑎3 + 3𝑎2 + 4) −

3(−𝑎2 + 2𝑎)

√5
=

1

√5
(−𝑎3 + 6𝑎2 − 6𝑎 + 4) 

 ℎ′(𝑎) =
1

√5
(−3𝑎2 + 12𝑎 − 6) = −

3

√5
(𝑎2 − 4𝑎 + 2) = −

3

√5
{𝑎 − (2 + √2)}{𝑎 − (2 − √2)} 

 

ℎ(𝑎)の 0 ≦ 𝑎 ≦ 2 における増減は右の通りで、𝑎 = 2 − √2のとき極小。 

ℎ(𝑎) =
1

√5
{(𝑎2 − 4𝑎 + 2)(−𝑎 + 2) + 4𝑎}より 

 𝑓(2 − √2) =
4(2 − √2)

√5
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4

√5
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8
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最大値は
8

√5
、最小値は

4(2 − √2)

√5
 ⋯ ⋯ (答) 


